


Pozicié

O© oo ~NPkrWNPR

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
42
43
45
46
47
48
49
50
51
52
53
AO1
A02

Cikkszam
421839-2
153581-4
267268-3
231907-1
324344-7
324341-3
216001-0
267269-1
233377-0
267777-2
216007-8
227092-6
256002-6
266026-4
324339-0
253794-8
285709-7
227093-4
213670-8
153583-0
213373-4
210005-4
241881-5
517448-4
681652-2
211021-9
418187-8
599354-5
183612-5
819063-3
253929-1
262001-8
266331-9
685700-9
266091-3
417237-6
418186-0
650523-4
643550-8
191940-4
645253-0
850444-2
265995-6
418189-4
265995-6
687052-4
P-12924
682566-8
324284-9
134841-3
824703-0

Megnevezés
Zarosapka
Kalapacshaz
Alatét
Rugés gyuru 10
Vas
Kalapéacs
Acélgolyé 3,5
Alatét 32
Nyomorugé
Kapos alatét
Acélgolyé 6,4
Fogaskerék
Csapszeg 6
Onmetszo csavar M4x12
Tengely
Lapos Alatét 18
Csapagyfedél
Fogaskerék
O-gyuru 58
Fogaskerékhaz
O-gyuru 22
Golydscsapagy 608DDW
Ventilatorkerék 52
Forgo6rész
Szigetelo fedél
Golyéscsapagy 607LLB
Légterelo
Allérész
Motorhaz
MAKITA cimke
Zarésapka 5
Poliuretan gyuru 5
Imbuszcsavar M5x50
Szivacsgumi lemez
Onmetszo csavar 4x50
Szigetelo fedél
Iranyvalto
Kapcsolo
Szénkefetart6-sapka 5-8
Szénkefe CB-411
Zajszuro kondenzator
Tipustabla
Onmetszo csavar M4x18
Markolat burkolat
Onmetszo csavar M4x18
Kéabel-fesziltségmentesito 6870
Tapkabel
Kéabelvédo
Kampé
DugOdkulcs 24
Hordtaska

Mennyiség
1

PR R R R

w
(=S

PP RPRRPRPREPNRPORRPEPNRPRPNNRPADMDMRRPRPRPRPRPRPRPRPRPRPRPRPREPREPRLPNNNNRERR



